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QUESTION 1

In which two locations are the keywords for mobile processing of quotes defined when setting up approvals? (Choose
two.) 

A. Submit sub-action ?Submit for Approval 

B. Submit sub-action ?Approve 

C. Submit sub-action ?Reject 

D. Mobile Approval Email Notification 

Correct Answer: BC 

 

QUESTION 2

You have implemented a Commerce Constraint rule, which has an Advanced action. While testing, you 

find that the attribute values specified in the rule are not being constrained, even though the condition is 

always true. 

What are two reasons for this behavior? (Choose two.) 

A. The attribute is used as a condition for a Commerce Hiding rule. 

B. Configuration was not deployed after the rule was implemented. 

C. Commerce was not deployed after the rule was implemented. 

D. The rule is inactive 

Correct Answer: CD 

 

QUESTION 3

Given the following code: 



Which statement will return the value for results as 25.0 when it is put in place of the blank line shown above the "}else{"
statement? 

A. results = atoi (var); 

B. results = atof (var); 

C. results = stringtointeger (var); 

D. results = stringtofloat (var); 

Correct Answer: C 

 

QUESTION 4

Identify four types of attributes that can be set by formulas. (Choose four.) 

A. Integer Attributes 

B. Single Select Menu Attributes 

C. Date Attributes 

D. Text Attributes 

E. Boolean Attributes 

F. Currency Attributes 

Correct Answer: ACEF 

 

QUESTION 5

Your customer has sales organizations in two countries. The customer wants to make sure that users from 

one country have access only to quotes from that country. 



How do you achieve this? 

A. Define different steps (for example, Pending A and Pending B) for each country. The participant profile of each step
allows access through user groups (either Group A or Group B depending on the step). Using transition rules, make
sure that quotes for Country A are always moved to steps belonging to that country. 

B. Hide Transaction Manager in CPQ and make sure that all access to quotes is performed from the CRM system
where you can easily define which quotes should be visible for different users. 

C. Define two groups: Country A and Country B. Define a participant profile, Sales, for each step. Define an auto-
forwarding rule which returns either "Group A~company~Sales" or "Group B~company~Sales." 

D. Define two groups: Country A and Country B. For each step, define two different participant profiles: Profile A and
Profile B. For each profile, select one matching group. 

Correct Answer: D 

 

QUESTION 6

When configuration a product, which pricing is applied last on a given item (part) after it is added to a valid
configuration? 

A. Attribute value pricing 

B. List price from the PriceBook 

C. Base Price from the parts database 

D. Recommend Item Pricing 

Correct Answer: D 

 

QUESTION 7

How should an administrator set up a conditional restriction for access to a Product Family? 

A. by providing conditional access criteria in the Restricted Access section of the home page setup 

B. by setting up a restricted profile and user group in Commerce and hiding the add, reconfigure, and delete product
options 

C. by hiding the model Punch-In on the home page by using JavaScript 

D. by writing a Constraint rule at the Product Family level 

Correct Answer: A 

 

QUESTION 8

When designing an integration with an ERP system, you must communicate with a third party integration 



tool (such as a middleware or a hub). 

Which three methods can be used to communicate with a middleware in this scenario? (Choose three.) 

A. Automated FTP 

B. urldata function call in a Commerce Advanced Modification BML function 

C. Formula Management 

D. Commerce Integration XSLs on an Action 

E. Send XML on a Transition Rule via Real Time Integration 

F. Commerce Integration Cloud Service Integration on an Action 

G. DataCube Reporting 

Correct Answer: BEF 

 

QUESTION 9

When using Web Services 1.0, consider the following sequence of a client system calling CPQ Cloud WebServices. 

1. 

Call Security Login WebServices with User ID and Password. 

2. 

Create a Commerce update Transaction WebServices call by using an existing transaction ID. 

3. 

Make the following updates in the web service XML: 

Set Session ID. 

Set "_shipTo_first_name" to "myName" 

4. 

Submit the WebService call. 

5. 

Call Security Logout WebServices with the Session ID to close the session. 

Based on the given sequence, which two statements are true? (Choose two.) 

A. Step 5 is unnecessary. Session ID is not needed to log out. 

B. The call in step 4 will throw an error. 

C. Step 3 does not specify an action to execute; therefore, nothing is updated in the transaction. 



D. The session will still be open. 

E. The Commerce transaction should be updated with the new Ship To name. 

Correct Answer: AE 

 

QUESTION 10

What two options do you have when searching for multiple parts on the Parts Administration page? (Choose two.) 

A. You can leave the field empty, which will return all parts. 

B. Use "_" and/or "%" as wildcards. 

C. Use "*" and/or "?" as wildcards. 

D. Type the start string of a part number. The search will return all parts starting with this text. 

E. Use regular expressions (RegEx) to describe a search pattern. 

Correct Answer: CD 

 

QUESTION 11

Identify two options to which transactions can be forwarded using forwarding rules. (Choose two.) 

A. any of the users who are part of the Approval group 

B. user groups 

C. users 

D. any email address registered in the CPQ Cloud system 

Correct Answer: BC 

 

QUESTION 12

Consider the following requirements for integration with Salesforce: 

Transaction information needs to be pushed back to Salesforce and synchronized. You must be able to 

synchronize a transaction with up to 1,000 lines back to the Opportunity Product object in Salesforce. 

On the basis of these requirements, which three XSL sets should you use to provide the integration? 

(Choose three.) 

A. SFDC Opportunity ?Import 

B. SFDC Quote ?Upset 



C. SFDC Products ?Upset All (200, 400, 600, 800, 1000) 

D. SFDC Quote ?Process Updates 

E. SFDC Opportunity ?Upload 

Correct Answer: C 
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